DTE =9M DCE =9F

"Computer"  "Straight Through"  "Modem"
DCD (I |1} = <{1|0| DCD
RXD | |2 - <4 3|(0O| TXD
TXD |O|3 > 2] 1| RXD
DTR |[O|4 » 6] | DSR
GND |P|5 5P| GND
DSR |1 |6 | = <4-{4|0| DTR
RTS [O|7 |» 8| I CTS
CTS | |8 <4 7|0O| RTS
RI I |9 |- <{9|0 RI
DTE = 9M DTE = 9M
"Computer" "Null Modem" "Computer"
DCD (I |1} = »1|1| DCD
RXD |2 «Tb— I [2] RXD
TXD |O|3 > <4-O|3| TXD
DTR |[O|4 » <4-{0|4| DTR
GND |P|5 X P{5| GND
DSR |1 ]6 | [6] DSR
RTS [O|7 |» <4-{O|7]| RTS
CTS I8 —<—>L>— I [8] CTS
RI I |9 |- 1|9 RI




